| Comp[ete the questions:

a) 3x__ =18 c 33+ =1 e) 12 +3 =
b) 8x __ = 32 A0 +10-___ f) 21+3-

2. There are 27/ cakes.
A box can hold 3 cakes. aava Ve A\

How many boxes of 3 cakes can be filled?

3. Draw a picture to show 18 divided by 3.

L. A Farmer has 2L+ apples.
He has 4+ bags.

How many apples will go in each bag?

5. There are 32 counters in this array.
Whrite the division calculations that can go with
it.

Numbers that follow each other when you count are called

consecutive numbers .

Three consecutive numbers form a staircase.

Here is -, 5 and 6.

When you add 3 consecutive numbers they can always

divided bg 3.

s this correct?

e.g.'—a—+5+6=|5
5+ 3=5




